2 419 [ELE AN RERE 2

AABCOEDL, ADEZNZTHNH, 0§35, cosA =k, cosB=k,, cosC=k, DLX,
RORZ MV AB=b, AC=c #AVTHEYE,
1) AH

@ AO
ZOREDZEL LT, (V)& (]) IXEMETH 20 E D DAL,

— k, 1— &, \+ 1—k7 \~
1) (Y)AH= k,— b+ |k — c
@ k12—1{<1 1— k2 ! 1—ky?
- 1 1 - 1 > kl ks - kz -
AH= < b+ c>= b+ ¢
(/) tanA \ tanC tan B \/1_k12 (\/1_/?32 \/1_k22 >

— 1 1-k° . \z 1—kf -
® 050 =gy {(f 1o~ (0 T 1

-— 1 cosB+ cosC~=\ _ 1 ky = ky -
(J) AO = 25inA<sian+sinBc>_2\/1_klz <\/1_k32b+\/1_k22 >

cosA =k,, cosB=k,, cosC=k, D%, sinA=,/1—k?, sinB=,/1-k} ,

— .2 152 3 2
sinC=./1—Fk;* , tanA:i tanB:i tanC:i'@%éo

k, ’ k, ’ ky

1) (Y)T, bR

ky 1—k2\ _ cosA sinB \ _ 1 sinB —cos A sinC
> ky— = - <cosA —_ > =— . -
k-1 1—k? —sin?A sinC sin Atan A sinC

1 ) sin(A+C)—cosAsinC _ 1 sinAcosC _ 1

- sinAtanA sinC sinAtan4 sinC " tanAtanC

o I PRy il BN
¢RI e\ 1—k7 ) tanAtanB

oT, (V)& () DElL FETHZ, B
@ (Y)T, bk,

1 L 1— k2 1) = 1 <cosA- sin B —1) __ 1 sinC—cosAsinB
2k =1\ A 1=k 2sin’A sinC 2sin? A sinC

_ 1  sin(A+B)—cosAsinB _ 1 sinAcosB _  cosB
2sin% A sinC 2sin? A sinC 2sin AsinC

. 1 [ 1—ks* _ cosC
C@'fw%ﬂﬁc\—’ 2(k12—1> <k1 1_k22 _1> - m

oT, (V)& () DElL FETHZ, B

(2022/11/1

Ta—h—)




